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201 LBt 2,000 6,000 A 4,000
03 A2 IHI 2,000 6,000 A 4,000
= 0l &F 2,000 6,000 A 4,000
oOXNY SAES 500,000& 43| 2,000
301 LerEdE3 44,400 20,000 24,400
09 HAAHXREZ 3,000 0 3,000
= Ol & 3,000 0 3,000
ou=s - - sAMES 750,000 *43] 3,000
12 JIEtE &3 41,400 20,000 21,400
= Off &t 41,400 20,000 21,400
OXSH=(FHl) X 28,800
oA2Z& XA 200,000 x63H * 13| 12,600
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M HEXA(MIEX/=S)
ool X e GLEL!
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
JEYHECSCEIIE AY 76,000 94,000 A 18,000
== 23,400
o 52,600
308 XXEHHMSOIA 76,000 94,000 A 18,000
== 23,400
= 52,600
10 SI2SHUSEAHEAE AIS ] 76,000 94,000 A 18,000
== 23,400
= 52,600
= 0l & 76,000 94,000 A 18,000
== 23,400
o 52,600
CEIEEEEpe= 76,000
== 23,400
o 52,600
AMSIEIIYE S (AMIEX/=S) 393, 381 151,280 242,101
Fag 295,036
= 29,504
o 68,841
AZEIY 4 KA 393, 381 151,280 242,101
Fag 295,036
& 29,504
= 68,841
ASIEDINYE 24 dXeESE NS 280,000 78,600 201,400
Fag 210,000
o 21,000
o 49,000
307 QIz2tol & 280,000 78,600 201,400
Fag 210,000
== 21,000
= 49,000
02 OCIZHEAMAIEE =X 280,000 78,600 201,400
rag 210,000
c 21,000
iy 49,000
= 0 & 280,000 78,600 201,400
Fag 210,000
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2N & Al

o =Amw

=g

HZ: Al ED|Y SH(MIEX/=S)
e A EDIY 4 K& (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
== 21,000
= 49,000
OAISI &I 4 LX2lzEE XS 280,000
Fag 210,000
== 21,000
o 49,000
A &Y |4 AMalEBE8EE X 113,381 72,680 40,701
Fag 85,036
== 8,504
= 19,841
307 QIz2tol & 113,381 72,680 40,701
Fag 85,036
== 8,504
= 19,841
02 CIZHEAMAIEE =X 113,381 72,680 40,701
g 85,036
== 8,504
= 19,841
= 0l & 113,381 72,680 40,701
Fag 85,036
== 8,504
- 19,841
OAISI &Y 4 AMIBEE XI& 113,381
Fag 85,036
== 8,504
o 19,841
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